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	A
	B
	C

	Double 24 = 48
	Double 44 = 88
	Double 42 = 84

	Double 240 = 480
	Double 440 = 880
	Double 420 = 840

	Double 2400 = 4800
	Double 4400 = 8800
	Double 4200 = 8400

	Half of 24 = 12
	Half of 44 = 22
	Half of 42 = 21

	Half of 240 = 120
	Half of 440 = 220
	Half of 420 = 210

	Half of 2400 = 1200
	Half of 4400 = 2200
	Half of 4200 = 2100

	Double 27 = 54
	Double 49 = 98
	Double 38 = 76

	Double 270 = 540
	Double 490 = 980
	Double 380 = 760

	Double 2700 = 5400
	Double 4900 = 9800
	Double 3800 =7600

	Half of 54 = 27
	Half of 72 = 36
	Half of 92 = 46

	Half of 540 = 270
	Half of 720 = 360
	Half of 920 = 460

	Half of 5400 = 2700
	Half of 7200 = 3600
	Half of 9200 = 4600

	Twice 360 = 720
	860 divided by 2 = 430
	Twice 380 = 760

	Two multiplied by 4800 = 9600
	Twos into 6400 = 3200
	Two multiplied by 3500 = 7000

	Double 270 = 540
	Half of 480 = 240
	660 divided by 2 = 330

	680 divided by 2 = 340
	Twice 380 = 760
	Twos into 480 = 240

	Twos into 4600 = 2300
	Two multiplied by 3500 = 7000
	Half of 8200 = 4100

	Half of 840 = 420
	Double 460 = 920
	Twice 370 = 740

	Half of 8200 = 4100
	Double 2700 = 5400
	Two multiplied by 3900 = 7800

	Twice 370 = 740
	680 divided by 2 = 340
	Double 470 = 940

	Double 4800 = 9600
	Double 3800 = 7600
	Double 2800 = 5600

	Double 510 = 1020
	Double 530 = 1060
	Double 520 = 1040

	Half of 3600 = 1800
	Half of 3800 = 1900
	Half of 3400 = 1700

	Half of 780 = 390
	Half of 980 = 490
	Half of 580 = 

	Double 670 = 1340
	Double 680 = 1360
	Double 690 = 1380



